ERBAROBEIERT — 2N —XBISH—F
Ll T o REE4mE AT

201554/ 118 (£) 1EES1H

(ER) AE

‘ (%] ‘ [Emhal  — | B () 27500 E

[A&4£] 1 7 12,000,000 § 2 7% :4,800,000  ~ 3 3 :3,000,000 4 3% :1,800,000 5 & :1,200,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- o= 1o~ FHRZ :01. —5-2- . — EHEZEE (EXR)
11111 FAILANRT K> # 6 600 3((!)3 6-5-2-2 13.2 4 ::g) R
RFAILANRTH— BTFAILF—S v N7 7 — L
S o 4 6 | BRREX 3:01.6 3-3-3-3 [13.2| — 2 508 |EH#HREE (EX)
2|7|12| @2V EY /T 60.0 (1 3/4) oy | 57E
L:T7RIfYL—> B:/08—> [E]=sEae
< — . 6 | TREEA 3:01.7 2-2-5-5 [13.2| — 1 580 | ALHARA (ER)
3 6| ®INTT 1 yIN— k 60.0 (1/2) (4 | ) s—2ENX
A :Dynaformer ##:Love Walked In North Hills Management
. . T . W — HRHEE (FX)
4 o | PRRATH LTS H o7 P 3(;111:)7 6-5-3-3 | 13.2 6 <4+720) ﬁﬁ%v‘ru—
RN=YI514 B:/—#¥rTYrtR J =% Ty — I
S= e HRHE :01. —3-7- . - #HET (FER)
5 10/®@F 37T Z 2N #" o9 o0 (31011/29) $376 1182 s ff; MEH;)T/j‘ayju
RNy hTr BRFHINYIE HET77— L4
LS 4 6 | AtEMH 3:02.2 1-1-1-1 [13.3| — 13 | 492 |BEZFK (X&)
sl 5| ®h—t>TIFF 60.0 (1 3/4) (o) | BIIREE
R:TIRAFIEI B:bh—t>HYT7A4T BRE&M IXT477—AL4
: 4 o8 | dLRfRE 3:02.7 9-8-9-9 |13.3| — 5 462 | BE—5 (BH)
7 7| FU—LE—0O— 60.0 ®3) (+2) | EIBEK
LiR—NFZXHLF— B RU—LT> H—RFIN=T 229K
N A . EHEF AR . a6 — EBR (E#H)
8 3| FLITLY - > 6| 2% (31012/3 9-8-6-6 | 13.3 12 zzg)e i
RiANRTNGR B:NAF L NL—T 2= FHi5
= # o6 | HKMEIRE 3:03.2 3-5-8-8 |13.3| — 7 504 | ATEBS (E®R)
o 4| TTTLEAYT 60.0 1 3/4) Lo | TEES
LFAILY>TF— BFAILTT—I 71 ILBEERS
O RS 7 | EAREE 3:03.7 9-11-12-12 | 13.4 | — 9 504 | DIAAE (E=R)
1ol 9| F—NVTZXT > # 60.0 @) (6) | BliEsE
R:xA21ZF7—X B byk—FOTLZ EDEAN ¢
= T o5 | 2R 3:03.9 12-12-10-10{ 13.4 | — 10 | 470 |&REE F#)
11)8[14| 71 VT IN=T 8.0 (1 1/ o) |EEER
RTHINEry b BiAATEZX Y- FAEEHIS
> 4 5 | ERAHE 3:04.4 8-8-10-11 | 13.4 | — 14 458 | MATTIERAE (RR)
120711 TV Z=2a 58.0 @) (rg) | A=
LNTVALT7TzO—- B:S5TF4I5 &I E—
. g | EHAEMN 3:06.3 12-12-12-13| 13.5 | — 8 484 | EHEE (EH)
13l5|g| T7ERUE 60.0 (51%) (+12) | EERHE
R:Tv TRy b Bov VL&t — EX 2V K
= SURIRPPE £ 8| BEE 3:08.4 14-14-14-14{ 13.7 | — 11 526 |BHEZ (RR)
14813 @7 ~ A~ F>>>7 K (51 ) Lo |MEAE
B2 Y E—T BT IFA LA LY T — BRI
@ 21 L
£y 51.0-38.0
ngraAq L
® I—F—@EBIERL
15=2r= 5-6(12,4,10) (1,2)11(7,9,3)-(14,8)=13
23—7+— [56(12,10) (4,1,2) (7,11,3)-9-(14,8)=13
30—4-— (¥5,1) (12,2)6-3,10,4-7(11,14)=(9,8)=13
43—+ — (x5,1) (12,2)6-(3,10)4,7-14,11,9-8=13
[ N5
B R 1 780 | | 71 K 1-12 840/ | | # = 1-7 2,440M | | 3EE 1-6-12 4,850M
B B 1 270M 1-6 1,280H B E 1=12 2,440 EE 1-12-6 40,280
12 190M4 6-12 490F9 B H 1-12 5,540M
6 170

ABICOVWTRDTEEERROODE. TR LIV,




